


P3
P8



(20 1/8/16 0 125

73
73

PLUM










M8.
90

M8.4
123










— m |
|
| L
|
|
m | m |
— |
1 :
W
|
I :
i | -
0w < ] “ W<t m
|
| -
|
|
|
Lt S :
: T
: T3 T
oM I
|
5 :
.................... D ___
| :
|
|
— — L
|
|
m
o] IR |y
“
|
|
|
|
|
|
— — I
0 w0 <t “ W<t m
I )
:
|
P ] : i
|
|
|
- = —
2 | )
NS
| I
- g _J -




=]
X X E (N=149 —
1 2 3 4 12 2 @O =1 M7.3
12 (200 ) 31 6 1 1 39 12 § 325 va'léA
13 (200 ) 4 5 0 0 9 15 23 + M8.0
14 (20D ) 6 1 0 0 7 16 2 @4 M6.8
15 (208 ) 12 3 0 3 18 16 10 23 18 34 M6.5
16 (2040 ) 14 8 4 2 28 ;g gg; = 'V'6-9M72
17 (209 ) 8 4 2 0 14 53 201 9.0
18 (206 ) 3 1 0 0 4 23 4 7 M7.2
19 (20D ) 11 2 1 1 15 23 4 11 M7.0
20 (208 ) 6 2 2 1 11 23 4 12 M6.4
21 (209 ) 7 3 0 0 10 28 4 15 M6.4
22 (20Q ) 9 1 0 o 10 28 4 16 M7.3
23 (201 ) 54 17 0 4 75
24 (202 ) 14 3 1 o 18 A & (N=19
25 (203 ) 7 6 0 0 13 12 7 30 21 25 M6.5)
26 (204 ) 8 1 1 0 10 16 10 23 18 11 M6.0
16 10 23 19 45 M5.7
27 (208 ) 5 3 1 0 9 16 10 27 M6.1
28 (204 ) 10 4 1 2 17 16 11 29H M7.1
2 ® 70 14 14 3@ 17 3 208 7 M7.0
E 7K 17 8 16 M7.2
19 2 @7 M6.8
12 288 20 7 24H F M6.8
12 ~ 25 3 28 1400 20 9 11 M7.1
4. X 24 3 27 M6.6
23 201 73 26 11 22H E M6.7
27 5 13 M6.8
25 3 28 1400~ 28 H20 28 4 14 M6.5

1=




12 200 28 204 8
28
1 2 3 4 7
1 58 126 4% 1@ 4 1 0 0 0
1 48 24 58 28 35 11 2 0 0
[l 2 0 14 18 2u 70 46 16 0 0
3 0 0 0 30 31 33 20 1 0
4 0 0 0 0 5 7 18 8 0
= 7K
12 ~ 25 3 28 1400
4. X
23 201 Vil =]
25 3 28 1400~ 28 8 20
= 1T
200 E

11



